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SYSTEM OF LINEAR EQUATIONS

Solved Examples

1. Use matrix method to show that the system that the system of

equation 

 


 


is inconsistent

Watch Video Solution

2x + 5y = 7

6x + 15y = 13

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lFIpGWG0OGxs
https://dl.doubtnut.com/l/_BkQd5MGVeyhy


2. Use matrix method to show that the following system of equation

is inconsistent 

3x-y+2z=3 

2x+y+3z=5 

x-2y-z=1

Watch Video Solution

3. Solve the system of equations


Watch Video Solution

2x  +  5y  =  1

3x  +  2y  =  7

4. If  then find  and hence solve the

follwoing equations:

Watch Video Solution

A =
⎡
⎢
⎣

1 2 −3

2 3 2

3 −3 −4

⎤
⎥
⎦

A− 1

x + 2y − 3z = 4, 2x + 3y + 2z = 2 and 3x − 3y − 4z = 11

https://dl.doubtnut.com/l/_BkQd5MGVeyhy
https://dl.doubtnut.com/l/_cgWwGHduOfap
https://dl.doubtnut.com/l/_u7uLk1eQY2Cw


Watch Video Solution

5. Using matrix method, solve the following system of linear

equations. 

Watch Video Solution

3x + 4y + 2z = 8, 2y − 3z = 3 and x − 2y + 6z = − 2

6. Using matrix method,
 solve the following system of equations:

Watch Video Solution

+ + = 4, − + = 1, + − = 2; x,  y,  z  ≠ 0
2

x

3

y

10

z

4

x

6

y

5

z

6

x

9

y

20

z

7. Use
 product 
 to solve

the system of equation: 


Watch Video Solution

[1 − 1202 − 33 − 24]  [ − 20192 − 361 − 2]

x − y + 2z = 1 2y − 3z = 1

3x − 2y + 4z = 2

https://dl.doubtnut.com/l/_u7uLk1eQY2Cw
https://dl.doubtnut.com/l/_pMxTA1ljTn95
https://dl.doubtnut.com/l/_4y7y0bh7Awh4
https://dl.doubtnut.com/l/_HY0FZlHg52Lj
https://dl.doubtnut.com/l/_NQwwijWfFaGY


8. Given

, find

AB and use this result in solving the following system of equation 

x-y+z=4, 

x-2y-2z=9 

2x+2y+3z=1

Watch Video Solution

A =
⎡
⎢
⎣

1  − 1       1

1  − 2  − 2

2       1       3

⎤
⎥
⎦

and B =
⎡
⎢
⎣

−4         4            4

−7         1            3

5       − 3       − 1

⎤
⎥
⎦

9. The sum of three numbers is 6. If we multiply the third number 2

and
add the first number to the result, we get 7. Be adding second

and third
 numbers to three times the first number we get 12. Use

determinants to find
the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_NQwwijWfFaGY
https://dl.doubtnut.com/l/_LfMLS6quRyz7


Exercise 8 A

10. A school wants to award its students for the value of honesty,

regularity and hard work will total cash award of Rs.  Three

times the award money for hard work added to that added to that

given for honesty amounts to Rs.  The award money given for

honesty and hard work together is double the one given for

regularity. Represent the above situation algebraically and find the

award money for each value, using matrix method.

Watch Video Solution

6000.

11000.

1. x+2y=9 

2x+4y=7

Watch Video Solution

https://dl.doubtnut.com/l/_VoYdoGYo9Yxu
https://dl.doubtnut.com/l/_jiPwtCYJTR7y
https://dl.doubtnut.com/l/_SB0VSdpXbbPU


2. 2x+3y=5 

6x+9y=10

Watch Video Solution

3. 4x-2y=3 

6x-3y=5

Watch Video Solution

4. 6x+4y=5 

9x+6y=8

Watch Video Solution

5. x+y-2z=5 

x-2y+z=4 

https://dl.doubtnut.com/l/_SB0VSdpXbbPU
https://dl.doubtnut.com/l/_mh0mBHx4aTde
https://dl.doubtnut.com/l/_uDPW4eUwC4rP
https://dl.doubtnut.com/l/_LFaFBHwpoFYK


-2x+y+z=4

show that each of the follwing is inconsistent

Watch Video Solution

6. 2x-y+3z=1 

3x-2y+5z=-4 

5x-4y+9z=14

show that it is inconsistent

Watch Video Solution

7. x+2y+4z=12 

y+2z=-1 

3x+2y+4z=4 

show that it is inconsistent

Watch Video Solution

https://dl.doubtnut.com/l/_LFaFBHwpoFYK
https://dl.doubtnut.com/l/_71iGLmMgUob0
https://dl.doubtnut.com/l/_GV2R43pYWHHW


8. Show that following
 system of linear equations is inconsistent:

Watch Video Solution

3x − y − 2z = 2,   2y − z = − 1,   3x − 5y = 3

9. 5x+2y=4 

7x+3y=5

Watch Video Solution

10. 3x+4y-5=0 

x-y+3=0

Watch Video Solution

https://dl.doubtnut.com/l/_GV2R43pYWHHW
https://dl.doubtnut.com/l/_IjWnuB1in1Lp
https://dl.doubtnut.com/l/_rPpBj2vHfC61
https://dl.doubtnut.com/l/_wXSvJowcJk5J


11. Solve: x+2y=1 

3x+y=4

Watch Video Solution

12. 5x+7y+2=0 

4x+6y+3=0

Watch Video Solution

13. 2x-3y+1=0 

x+4y+3=0

Watch Video Solution

https://dl.doubtnut.com/l/_9glh04OYFoKI
https://dl.doubtnut.com/l/_hPwfKt5KVvox
https://dl.doubtnut.com/l/_RIRBDDWorTM5


14. Solve system of linear equations, using matrix method,

Watch Video Solution

4x3y = 3

3x5y = 7

15. 2x+8y+5z=5 

x+y+z=-2 

x+2y-z=2

Watch Video Solution

16. x-y+z=1 

2x+y-z=2 

x-2y-z=4

Watch Video Solution

https://dl.doubtnut.com/l/_lHcIIbrjiXwM
https://dl.doubtnut.com/l/_UJyJjpmAvcIU
https://dl.doubtnut.com/l/_27EAYGgFCR0C
https://dl.doubtnut.com/l/_G5altk1isYE7


17. 3x+4y+7z=4, 

2x+y+ 3z= 3, 

x + 2y +3z =8.

Watch Video Solution

18. x+2y+z=7 

x+3z=11 

2x-3y=1

Watch Video Solution

19. 2x-3y+5z=16, 

3x+ 2y-4z= -4, 

x + y - 2z =- 3.

Watch Video Solution

https://dl.doubtnut.com/l/_G5altk1isYE7
https://dl.doubtnut.com/l/_VG0OU9Sci80r
https://dl.doubtnut.com/l/_05PytG16KK16
https://dl.doubtnut.com/l/_OWshPf8ZPZj0


20. x+y+z=4 

2x-y+z=-1 

2x+y-3z=-9

Watch Video Solution

21. Using
 matrices, solve the following system of equations:




Watch Video Solution

2x = 3y + 5z = 11 3x + 2y − 4z =   − 5

22. x+y+z=1 

x-2y+3z=2 

5x-3y+z=3

Watch Video Solution

https://dl.doubtnut.com/l/_OWshPf8ZPZj0
https://dl.doubtnut.com/l/_Bl8BoQ3zHL5Y
https://dl.doubtnut.com/l/_UAbXnmDc0Veb
https://dl.doubtnut.com/l/_9mkyEkKORlEk


23. x+y+z=6 

x + 2z =7, 

3x + y + z = 12

Watch Video Solution

24. 2x+3y+3z=5 

x-2y+z=-4 

3x-y-2z=3

Watch Video Solution

25. 4x -5y-11z=12,. 

x-3y+z=1 

2x + 3y-7z = 2

Watch Video Solution

https://dl.doubtnut.com/l/_9mkyEkKORlEk
https://dl.doubtnut.com/l/_WRAzQktRObF3
https://dl.doubtnut.com/l/_DI3RflpdDxo4
https://dl.doubtnut.com/l/_7L7HCXSEInbY


26. Solve system of linear equations, using matrix method, in

questions 7 to 14. 

x-y+2z=7, 3x+4y-5z=-5, 2x-y+3z=12

Watch Video Solution

27. 6x-9y-20z=-4 

4x-15y+10z=-1 

2x-3y-5z=-1

Watch Video Solution

28. 3x-4y+2z=-1 

2x+3y+5z=7 

x+z=2

Watch Video Solution

https://dl.doubtnut.com/l/_7L7HCXSEInbY
https://dl.doubtnut.com/l/_4I5h1UEvpXSc
https://dl.doubtnut.com/l/_VLPD20MbHjX6


29. x+y-z=1 

3x+y-2z=3 

x-y-z=-1

Watch Video Solution

30. 2x+y-z=1 

x-y+z=2 

3x+y-2z=-1

Watch Video Solution

31. x+2y+z=4 

-x+y+z=0 

x-3y+z=4

Watch Video Solution

https://dl.doubtnut.com/l/_Pc7nzP4n8eDF
https://dl.doubtnut.com/l/_KH2ZcJWOwpRg
https://dl.doubtnut.com/l/_SobSJnvwdPcm


32. x-y-2z=3 

x+y=1 

x+z=-6

Watch Video Solution

33. By using matrix method find the value of x, y, z

 


 





find the value of x,y,z

Watch Video Solution

5x − y = − 7

2x + 3z = 1

3y − z = 5

34. x-2y+z=0 

y-z=2 

2x-3z=10

https://dl.doubtnut.com/l/_uCbUZ31zVWaZ
https://dl.doubtnut.com/l/_MH9ODvv4iT3e
https://dl.doubtnut.com/l/_Y561tsxzuPg8


Watch Video Solution

35. x-y=3 

2x+3y+4z=17 

y+2z=7

Watch Video Solution

36. find the value of x, y, z with the help of determinant method

4x+3y+2z=60 

x+2y+3z=45 

6x+2y+3z=70

Watch Video Solution

https://dl.doubtnut.com/l/_Y561tsxzuPg8
https://dl.doubtnut.com/l/_IlGttc1UKzVc
https://dl.doubtnut.com/l/_Piox1OUWQQIl


37. If  find . Use it to solve the system of

equations  ,  and 

Watch Video Solution

A =
⎛
⎜
⎝

2 −3 5

3 2 −4

1 1 −2

⎞
⎟
⎠

A− 1

2x − 3y + 5z = 11 3x + 2y − 4z = − 5

x + y − 2z = − 3

38. Solve system of linear equations, using matrix method,

Watch Video Solution

2x + y + z = 1x − 2y − z =
3

2
3y − 5z = 9

39. If  , find AB 


Hence , solve the system of equation 

x-2y=10, 2x+y+3z=8 and -2y+z=7.

Watch Video Solution

A =
⎡
⎢
⎣

1 −2 0

2 1 3

0 −2 1

⎤
⎥
⎦

and B =
⎡
⎢
⎣

7 2 −6

−2 1 −3

−4 2 5

⎤
⎥
⎦

https://dl.doubtnut.com/l/_jNnQW24m0p84
https://dl.doubtnut.com/l/_UShIHYL3JyLy
https://dl.doubtnut.com/l/_OmmpqZuFfacf


Exercise 8 A Using Matrices Solve The Following System Of Equations

1. Solve the following
 system of equations by matrix method :


 
 



 



 



 



 



 
 



 



 
 



 
 



 
 



 








W h Vid S l i

x + y − 2 = 3 2x + 3y + z = 10 3x − y − 7z = 1 x + y + z = 3

2x − y + z = − 1 2x + y − 3z = − 9 6x − 12y + 25z = 4

4x + 15y − 20z = 3 2x + 18y + 15z = 10 3x + 4y + 7z = 14

2x − y + 3z = 4 x + 2y − 3z = 0 − + = 10
2

x

3

y

3

z

+ + = 10
1

x

1

y

1

z
− + = 13

3

x

1

y

2

z
5x + 3y + z = 16

2x + y + 3z = 19 x + 2y + 4z = 25 3x + 4y + 2z = 8 2y − 3z = 3

x − 2y + 6z = − 2 2x + y + z = 2 x + 3y − z = 5

3x + y − 2z = 6 2x + 6y = 2 3x − z = − 8 2x − y + z = − 3

2y − z = 1 x − y + z = 2 2x − y = 0 8x + 4y + 3z = 18

2x + y + z = 5 x + 2y + z = 5 x + y + z = 6 x + 2z = 7

3x + y + z = 12 + + = 4,
2

x

3

y

10

z
− + = 1

4

x

6

y

5

z

+ − = 2; x, y, z ≠ 0
6

x

9

y

20

z
x − y + 2z = 7

3x + 4y − 5z = − 5 2x − y + 3z = 12

https://dl.doubtnut.com/l/_OmmpqZuFfacf
https://dl.doubtnut.com/l/_1y0H1OQvJjeP


Exercise 8 A Value Based Questions

Watch Video Solution

2. 

Watch Video Solution

1/x − + = 4, + − = 0, + + = 2(x, y, z ≠ 0)
1

y

1

z

2

x

1

y

3

z

1

x

1

y

1

z

1. The sum of three numbers is 2. If twice the second number is added

to the sum of first and third, we get 1. On adding the sum of second

and third numbers to five times the first, we get 6. Find the three

numbers by using matrices.

Watch Video Solution

https://dl.doubtnut.com/l/_1y0H1OQvJjeP
https://dl.doubtnut.com/l/_ANluUv2ZuHWg
https://dl.doubtnut.com/l/_1xLwb5hNf01E


2. The cost of 4 kg potato, 3 kg wheat and 2 kg rice is x 60. The cost of

1 kg potato, 2 kg wheat and 3 kg rice is ? 45. The cost of 6 kg potato, 2

kg Wheat and 3 kg rice is ? 70. Find the cost of each item per kg by

matrix method.

Watch Video Solution

3. An amount of Rs 5000 is put into three investments at the rate of

interest of  per annum respectively. The total

annual income is Rs 358. If the combined income from the first

taoinvestments is Rs 70 more than the income from the third, find

the amount of each investment by matrirx method

Watch Video Solution

6 % , 7 % and 8 %

4. Two schools P and Q want to award their selected
students on the

values of Tolerance, Kindness and Leadership. The school P
 wants to

https://dl.doubtnut.com/l/_htDQOOGPPeGh
https://dl.doubtnut.com/l/_4Ik73ZyN726Q
https://dl.doubtnut.com/l/_MaaeihW35p0p


Objective Questions

award Rs. x each, Rs. y each and Rs. z each for the three respective

values to 3, 2 and 1
students respectively with a total award money of

Rs. 2,200. School Q wants to spend Rs. 3,100 to award its 4, 1 and 3

students on the
 respective values (by giving the same award money

to the three values as
school P). If the total amount of award for one

prize on each value is Rs. 1,200, using matrices, find the award money

for each
value.
Apart from these three values, suggest one more value

which should be considered for award.

Watch Video Solution

1. If A and B are 2-rowed square matrics such that 

 then AB=?

A. 

B. 

(A + B) = [
4 −3

1 6
] and (A − B) = [

−2 −1

5 2
]

[
−7 5

1 −5
]

[
7 −5

1 5
]

https://dl.doubtnut.com/l/_MaaeihW35p0p
https://dl.doubtnut.com/l/_nA6cXSjVF8Rg


C. 

D. 

Answer: B

Watch Video Solution

[
7 −1

5 −5
]

[
7 −1

−5 5
]

2. If  then A=?

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

[
3 −2

5 6
] + 2A = [

5 6

−7 10
]

[
1 3

−5 4
]

[
1 5

−3 4
]

[
1 4

6 2
]

https://dl.doubtnut.com/l/_nA6cXSjVF8Rg
https://dl.doubtnut.com/l/_fd3mWTtuUcJR
https://dl.doubtnut.com/l/_wJS8UeJCx0y6


3. If  are such that 4A+3X=5B

then x=?

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

A = [
2 0

−3 1
] and B = [

4 −3

−6 2
]

[
4 −5

−6 2
]

[
4 5

−6 −2
]

[
−4 5

6 −2
]

4. If  then

B=?

A. 

B. 

(A − 2B) = [
1 −2

3 0
] and (2A − 3B) = [

−2 2

3 −3
]

[
6 −4

−3 3
]

[
−4 6

−3 −3
]

https://dl.doubtnut.com/l/_wJS8UeJCx0y6
https://dl.doubtnut.com/l/_Ju50RtvtU0pA


C. 

D. none of these

Answer: B

Watch Video Solution

[
4 −6

3 −3
]

5. Find matrices  and , if  and 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

A B 2A − B = [
6 −6 0

−4 2 1
]

2B + A = [
3 2 5

−2 1 −7
]

[
−3 2 1

2 1 −1
]

[
3 2 −1

2 −1 1
]

[
3 2 −1

−2 1 −1
]

https://dl.doubtnut.com/l/_Ju50RtvtU0pA
https://dl.doubtnut.com/l/_frZXfVHPdxEG


6. If  then

A. (x=-2,y=8)

B. (x=2,y=-8)

C. (x=3,y=-6)

D. (x=-3,y=6)

Answer: B

Watch Video Solution

2[
3 4

5 x
] + [

1 y

0 1
] = [

7 0

10 5
]

7. If 

A. z=3,w=4

B. z=4,w=3

C. z=1,w=2

[
x − y 2x − y

2x + z 3z + w
] = [

−1 0

5 13
]

https://dl.doubtnut.com/l/_frZXfVHPdxEG
https://dl.doubtnut.com/l/_66qbRnPlp30g
https://dl.doubtnut.com/l/_qmJhy1kYLlCK


D. z=2,w=-1

Answer: A

Watch Video Solution

8. Solve for x and y, given that 

A. x=1,y=2

B. x=2,y=1

C. x=1,y=1

D. none of these

Answer: C

Watch Video Solution

[
x y

3y x
][

1

2
] = [

3

5
].

https://dl.doubtnut.com/l/_qmJhy1kYLlCK
https://dl.doubtnut.com/l/_VioZW9PfNqVr


9. In the matrix  is singular then X=?

A. 0

B. 1

C. -1

D. -2

Answer: B

Watch Video Solution

A = [
3 − 2x x + 1

2 4
]

10. If 

A. 

B. 

C. 

Aα = [
cosα sinα

−sinα cosα
]then(Aα)2 = ?

[
cos2 α sin2 α

−sin2 α cos2 α
]

[
cos 2α sin 2α

−sin 2α cos 2α
]

[
2 cosα 2 sinα

−sinα 2 cosα
]

https://dl.doubtnut.com/l/_DYx33VHNBW5x
https://dl.doubtnut.com/l/_ACRIQdd6oW9G


D. none of these

Answer: B

Watch Video Solution

11. if  be such that  then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A = [
cosα sinα

−sinα cosα
] A + A' = I α

π

π

3

π

2π

3

https://dl.doubtnut.com/l/_ACRIQdd6oW9G
https://dl.doubtnut.com/l/_lFmVq4NAChyW


12. If  is singular then K=?

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

A =
⎡
⎢
⎣

1 k 3

3 k −2

2 3 −4

⎤
⎥
⎦

16

3

34

3

33

3

13. If ; find 

A. 

B. 

C. 

A = [(a; b); (c; d)] adjA

[
d −c

−b a
]

[
−d b

c −a
]

[
d −b

−c a
]

https://dl.doubtnut.com/l/_uGIJOY2OgLRw
https://dl.doubtnut.com/l/_pEYPjy7mcdBP


D. 

Answer: C

Watch Video Solution

[
−d −b

c a
]

14. If , then what is the value

of x ?

A. 1

B. 2

C. 

D. -2

Answer: C

Watch Video Solution

A = [
2x 0

x x
] and A− 1 = [

1 0

−1 2
]

1

2

https://dl.doubtnut.com/l/_pEYPjy7mcdBP
https://dl.doubtnut.com/l/_3ZvoCaxLGwys
https://dl.doubtnut.com/l/_SOKllYtVSMs4


15. If A and B are square matrics of the same order then (A+B)(A-B)=?

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

(A2 − B2)

A2 + AB − BA − B2

A2 − AB + BA − B2

16. If A and B are square matrics of the same order then

A. 

B. 

C. 

(A + B)
2

= ?

A2 + 2AB + B2

A2 + AB + BA + B2

A2 + 2BA + B2

https://dl.doubtnut.com/l/_SOKllYtVSMs4
https://dl.doubtnut.com/l/_6IvmZ9dMB8FA


D. none of these

Answer: B

Watch Video Solution

17. If A and B are square matrics of the same order then

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(A − B)2 = ?

A2 − 2AB + B2

A2 − AB − BA + B2

A2 − 2BA + B2

https://dl.doubtnut.com/l/_6IvmZ9dMB8FA
https://dl.doubtnut.com/l/_0yjsaioRNMTx
https://dl.doubtnut.com/l/_hjU5U1h89PnV


18. If A and B are symmetric matrices of the same order then (AB-BA)

is always

A. a symmetric matrix

B. a skew symmetric matrix

C. a zero matrix

D. an identity matrix

Answer: B

Watch Video Solution

19. Matrices A and B will be inverse of each other only
 if
 (A)


 (B) 
 (C) 


(D) 

A. AB=BA

B. AB=BA=O

AB  =  BA AB  =  BA  =  0

AB  =  0,  BA  =  I AB  =  BA  =  I

https://dl.doubtnut.com/l/_hjU5U1h89PnV
https://dl.doubtnut.com/l/_XRe9nkKL26L1


C. AB=O,BA=I

D. AB=BA=I

Answer: D

Watch Video Solution

20. If A; B are non singular square matrices of same order; then

A. (adjA)(adjB)

B. (adjB)(adjA)

C. |AB|

D. none of these

Answer: B

Watch Video Solution

adj(AB) = (adjB)(adjA)

https://dl.doubtnut.com/l/_XRe9nkKL26L1
https://dl.doubtnut.com/l/_DgLxP6KIhKyN


21. If A is a 3-rowed square matrix and |A|=4 then |adjA|=?

A. 4A

B. 16A

C. 64A

D. none of these

Answer: A

Watch Video Solution

22. If A is a 3-rowed square matrix and |A|=5 then |adjA|=?

A. 5

B. 25

C. 125

https://dl.doubtnut.com/l/_DgLxP6KIhKyN
https://dl.doubtnut.com/l/_i5GzAyLyeAT3
https://dl.doubtnut.com/l/_zb4MRRoVXGsv


D. none of these

Answer: B

Watch Video Solution

23. For any two matrices A and B , we have

A. AB=BA is always true

B. AB=BA is never true

C. sometimes AB=BA and sometimes AB BA

D. whenever AB exists , then BA exists

Answer: C

Watch Video Solution

≠

https://dl.doubtnut.com/l/_zb4MRRoVXGsv
https://dl.doubtnut.com/l/_DFrCvyxXNyvN


24. Find a matrix X such that .

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

X. [
3 2

1 −1
] = [

4 1

2 3
]

[
1 −1

1 1
]

[
1 1

−1 1
]

[
1 1

1 −1
]

25. If A is an invertible square matrix then =?

A. |A|

B. 

C. 1

∣∣A
− 1∣∣

1

|A|

https://dl.doubtnut.com/l/_trUFx7kLZeMg
https://dl.doubtnut.com/l/_tIcjboADg7s4


D. 0

Answer: B

Watch Video Solution

26. If A; B are invertible matrices of the same order; then show that

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(AB) − 1 = B− 1A− 1

(A− 1 × B− 1)

(A × B− 1)

(A− 1 × B)

(B− 1 × A− 1)

https://dl.doubtnut.com/l/_tIcjboADg7s4
https://dl.doubtnut.com/l/_slXH0fvLiUt2
https://dl.doubtnut.com/l/_wa79dMazcuM2


27. If A and B are two nonzero square matrices of the same order

such that the product , then

A. |A|=0 or |B|=0

B. |A|=0 and |B|=0

C. |A|  0 and |B|  0

D. none of these

Answer: B

Watch Video Solution

AB = O

≠ ≠

28. If A is square matrix such that |A|  0 and 

=?

A. (I-A)

B. (I+A)

≠

A2 − A + 2I = O  then A− 1

https://dl.doubtnut.com/l/_wa79dMazcuM2
https://dl.doubtnut.com/l/_krsp92X7Nco2


C. 

D. 

Answer: C

Watch Video Solution

(I − A)
1

2

(I + A)
I

2

29. If  is not invertible then =?

A. 2

B. 1

C. -1

D. 0

Answer: B

Watch Video Solution

A =
⎡
⎢
⎣

1 λ 2

1 2 5

2 1 1

⎤
⎥
⎦

λ

https://dl.doubtnut.com/l/_krsp92X7Nco2
https://dl.doubtnut.com/l/_7sbrrJZzeFcy


30. If  =?

A. A

B. 

C. adjA

D. 

Answer: C

Watch Video Solution

A = [
cos θ −sin θ

sin θ cos θ
]  then A− 1

−A

= − adjA

31. If  then matrix A is (A) scalar (B) involuntary (C)

idemponent (D) nilpotent

A. idempotent

B. orthgonal

C. nilpotent

A = [
ab b2

−a2 −ab
]

https://dl.doubtnut.com/l/_YPHLbyvah0sk
https://dl.doubtnut.com/l/_eMftkQhONZXR


D. none of these

Answer: C

Watch Video Solution

32. If  then A is `1) an idempotent matrix 2)

nilpotent matrix 3) involutary 4) orthogonal matrix

A. nonsingular

B. idempotent

C. nilpoptent

D. orthogonal

Answer: B

Watch Video Solution

A =
⎡
⎢
⎣

2 −2 −4

−1 3 4

1 −2 −3

⎤
⎥
⎦

https://dl.doubtnut.com/l/_eMftkQhONZXR
https://dl.doubtnut.com/l/_gVVRqLUy4wMZ


33. If A is singular then A(adjA)=?

A. a unit matrix

B. a null matrix

C. a symmetric

D. none of these

Answer: B

Watch Video Solution

34. if for any  square matrix A ,  then write

the value of 

A. 0

B. 8

C. 64

2 ⋅ 2 A(adjA) = [
8 0

0 8
]

det. A

https://dl.doubtnut.com/l/_R3wZBlLgnBT0
https://dl.doubtnut.com/l/_AOLBccEo9Voy


D. 4

Answer: B

Watch Video Solution

35. If  then =?

A. -5

B. 

C. 

D. 25

Answer: B

Watch Video Solution

A = [
−2 3

1 1
] ∣∣A

− 1∣∣

−1

5

1

25

https://dl.doubtnut.com/l/_AOLBccEo9Voy
https://dl.doubtnut.com/l/_3yMkR2NpbMuW


36. If , find x and y such that 

A. x=6,y=6

B. x=8,y=8

C. x=5,y=8

D. x=6,y=8

Answer: B

Watch Video Solution

A = [
3 1

7 5
] A2 + xI = yA.

37. If matrices A and B anticommute then

A. AB=BA

B. AB=-BA

C. (AB) = (BA)
− 1

https://dl.doubtnut.com/l/_7roXmDIpuecs
https://dl.doubtnut.com/l/_lZyxLOo5ugDW


D. NOne of these

Answer: B

Watch Video Solution

38. If  , find adj A.

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

A = [
2 5

1 3
]

[
3 −5

−1 2
]

[
3 −1

−5 2
]

[
−1 2

3 −5
]

https://dl.doubtnut.com/l/_lZyxLOo5ugDW
https://dl.doubtnut.com/l/_CeNp2N9YpyMx


39. If  and B is a square matrix of order 2 such that

AB=I then B=?

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

A = [
3 −4

−1 2
]

[
1 2

2 3
]

[
1

2
]

1
2

3

2

[
1 2

]1
2

3
2

40. If A; B are invertible matrices of the same order; then show that

A. 

B. 

(AB)
− 1

= B− 1A− 1

AB− 1

A− 1B

https://dl.doubtnut.com/l/_zosMn5jiXQEF
https://dl.doubtnut.com/l/_fTSg4c2J1iHA


C. 

D. 

Answer: D

Watch Video Solution

A− 1B− 1

B− 1A− 1

41. If =?

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

A = [
2 −1

1 3
], thenA− 1

[ ]
3

7

− 1

7

1

7

2

7

[ ]

3

7

1

7

− 1

7

2

7

[ ]

3

7

1

7

1

7

2

7

https://dl.doubtnut.com/l/_fTSg4c2J1iHA
https://dl.doubtnut.com/l/_fvoZC9LjuhOI


42. If |A|=3 and  then adjA=?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A− 1 = [
3 −1

]− 5

3

2

3

[
9 5

−5 −2
]

[
9 −3

−5 2
]

[
−9 3

5 −2
]

[
9 −3

5 −2
]

43. If A is an invertible matrix and  then A=?

A. 

B. 

C. 

A− 1 = [
3 5

5 6
]

[
6 −4

−5 3
]

[ ]

1

3

1

4

1

5

1

6

[
−3 2

]5
2

− 3

2

https://dl.doubtnut.com/l/_rUBJe7VggYuI
https://dl.doubtnut.com/l/_o3KGT8gHKB1H


D. none of these

Answer: D

Watch Video Solution

44. If  =?

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

A = [(1, 4), (4, − 3) and f(x) = 2x2 − 4x + 5thenf(A)

[
19 −32

−16 51
]

[
19 −16

−32 51
]

[
19 −11

−27 51
]

https://dl.doubtnut.com/l/_o3KGT8gHKB1H
https://dl.doubtnut.com/l/_sItgbhPkJ8bZ


45. If =?

A. I

B. 5I

C. 3I

D. 0

Answer: B

Watch Video Solution

A = [
1 2

4 3
]thenA2 − 4A

46. If A is 2-rowed square matrix and |A|=6 then A,adjA=?

A. 

B. 

C. 

[
6 0

0 6
]

[
3 0

0 3
]

[
0

0
]

1

6

1

6

https://dl.doubtnut.com/l/_kVk80uJUCwZW
https://dl.doubtnut.com/l/_oX3m9cMuYhsu


D. none of these

Answer: A

Watch Video Solution

47. If A is  invertible matrix, then show that for any scalar k (non-

zero),kA is invertible and 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

3 × 3

(kA) − 1 = A− 1I
1

k

k. A− 1

. A− 11

k

−k. A− 1

https://dl.doubtnut.com/l/_oX3m9cMuYhsu
https://dl.doubtnut.com/l/_Kh7qBwrJj6SC
https://dl.doubtnut.com/l/_CGOkZD7tf9uM


48. If =?

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

A =
⎡
⎢
⎣

3 4 1

1 0 −2

−2 −1 2

⎤
⎥
⎦
thenA− 1

⎡
⎢
⎣

2 9 −8

−2 8 7

−1 5 −4

⎤
⎥
⎦

⎡
⎢
⎣

2 9 −8

2 8 7

−1 −5 4

⎤
⎥
⎦

⎡
⎢
⎣

−2 −9 −8

2 8 7

−1 5 −4

⎤
⎥
⎦

49. If A is a square matrix, then (1)  is symmetric (3)  is skew -

symmetric (2)  is skew - symmetric (4)  is symmetric

A. a null matrix

B. an identity matrix

AA' A'A

AA' A2

https://dl.doubtnut.com/l/_CGOkZD7tf9uM
https://dl.doubtnut.com/l/_X3ESpMxedxNf


C. a symmetric matrix

D. a skew-symmetric matrix

Answer: C

Watch Video Solution

50. If A is a square matrix then  is

A. a null matrix

B. an identity matrix

C. a symmetric matrix

D. a skew-symmetric matrix

Answer: D

Watch Video Solution

(A − A' )

https://dl.doubtnut.com/l/_X3ESpMxedxNf
https://dl.doubtnut.com/l/_w6Ucsr9M3Okf
https://dl.doubtnut.com/l/_5EiS6MrubExj


51. It A is 3-rowed square matrix and |3A|=k|A| then k=?

A. 3

B. 9

C. 27

D. 1

Answer: C

Watch Video Solution

52. Which one of the following is a scalar matrix

A. 

B. 

C. 

D. none of these

[
1 1

1 1
]

[
6 0

0 3
]

[
−8 0

0 −8
]

https://dl.doubtnut.com/l/_5EiS6MrubExj
https://dl.doubtnut.com/l/_TGjRZYtNdEIL


Answer: C

Watch Video Solution

53. If 

then find the values of a and b.

A. a=2,b=-3

B. a=-2,b=3

C. a=1,b=4

D. none of these

Answer: C

Watch Video Solution

A = [
1 −1

2 −1
], B = [

a −1

b −1
]  and (A + B)

2
= (A2 + B2)

https://dl.doubtnut.com/l/_TGjRZYtNdEIL
https://dl.doubtnut.com/l/_9ofw8RuoxtbJ

